INTERNATIONAL FINANCE
2. Course: Theory of Comparative Advantage, Balance of Payments.

Basic information
Economics shows that specialization increases productivity and living standards. International trade involves exchange among different nations. An economy that engages in international trade is called an open economy. A useful measure of openness is the ratio of a country’s exports and imports to GDP. 
The sources of international trade:
1. Diversity in the conditions of production among regions. 
Example: Countries with tropical climates will naturally specialize in bananas, coffee, and citrus fruits. These goods and services will be traded for other commodities. Countries with frostier climates are more likely to produce goods and services like maple syrup, salmon, reindeer meat, and skiing.  

2. Decreasing costs of production. 
Many manufacturing processes enjoy economies of scale, that is, they tend to have lower average costs of production as the volume of output expands. 
3. Differences in tastes. 
Yet a third cause of trade lies in preferences. Even if conditions of production are identical in all regions, countries might engage in trade if their tastes for goods are different. 
The principle of Comparative Advantage

These three reasons for trade listed above provide the common-sense reasons for international trade. The principle of comparative advantage holds that a country can trade even if it is absolutely more efficient (or more inefficient) than other countries in the production of every good. 


The principle of comparative advantage holds that each country will specialize in the production and export of those goods that it can produce at relatively low cost (in which it is relatively more efficient than other countries); conversely, each country will import those goods which it produces at relatively high cost (in which it is relatively less efficient than other countries). The principle of comparative advantage explains why countries specialize in the production of particular commodities. 
Example 1 - Comparative Advantage: England and Portugal

Comparative advantage was first described by David Ricardo who explained it clearly in his book in 1817: On the Principles of Political Economy and Taxation in an example involving England and Portugal. In Portugal it is possible to produce both wine and cloth with less work than it takes in England. However the relative costs of producing those two goods are different in the two countries. In England it is very hard to produce wine, and only moderately difficult to produce cloth. In Portugal both are easy to produce. Therefore while it is cheaper to produce cloth in Portugal than England, it is cheaper still for Portugal to produce excess wine, and trade that for English cloth. And conversely England benefits from this trade because its cost for producing cloth has not changed but it can now get wine at a cheaper cost, closer to the cost of cloth.

The conclusion drawn from this analysis is that a country should specialize in products and services in which it has a comparative advantage. It should trade with another country for products in which the other country has a comparative advantage. In this way both countries become better off and gain from trade.
Example 2 - Comparative Advantage: America and Europe

If labor (or resources more generally) is absolutely more productive in America than in Europe, does it mean that the America will import nothing? Is it economically wise for Europe to “protect” its markets with tariffs or quotas?
These questions were first answered by the English economist David Ricardo in 1817. Ricardo supplied that international specialization benefits a nation, calling the result the law of comparative advantage. For simplicity, we will work with only two countries and only two goods, and we will choose to measure all production costs in terms of labor-hours. 
Next table portrays the principle of comparative advantage. 

Table 1 American and European Labor Requirement for Production





Necessary labor (labor-hour)

Product

    In America

    In Europe

1 unit of food


1


3

1 unit of clothing

2


4

In a hypothetical example, America has lower labor costs in both food and clothing. American labor productivity is between 2 and 3 times Europe’s (twice in clothing, thrice in food). Yet it benefits both regions to trade with each other. Comparative advantage depends only on relatively costs!!!  

In America, it takes 1 hour of labor to produce a unit of food, while a unit of clothing costs 2 hours of labor. In Europe the cost is 3 hours of labor for food and 4 hours of labor for clothing. We see that America has absolute advantage in both goods, for it can produce them with greater absolute efficiency than can Europe. However, America has comparative advantage in food, while Europe has comparative advantage in clothing, because food is relatively inexpensive in America while clothing is relatively less expensive in Europe. 

From these facts, we prove that both countries will benefit if they specialize in their areas of comparative advantage – that is, if America specializes in the production of clothing. In this situation, America will export food to pay for European clothing while Europe exports clothing to pay for American food. 

Before trade


We start by examining what occurs in the absence of any international trade, because all trade is illegal or because of a prohibitive tariff. Table 1 shows the real wage of the American worker for an hour’s work as 1 unit of food or ½ unit of clothing. The European worker is less well off in a no-trade position, getting only 1/3 unit of food or ¼ unit of clothing per hour of work. In perfect competition prevails in each isolated region, the prices of food and clothing will be different in production costs. In America, clothing will be 2 times as expensive as food because it takes twice as much labor to produce a unit of clothing as it does to produce a unit of food. In Europe, clothing will be only 4/3 as expensive as food. 
After trade


Now suppose that all tariffs are repealed and free trade is allowed. For simplicity, further assume that there are no transportation costs. In this case, goods will flow from their low-price region to their high-price region. Indeed, with no transportation costs, all prices in the two regions must be equalized. Hence food sells for the same price everywhere, as will clothing. 
Clothing is relatively more expensive in America and food is relatively more expensive in Europe. Given these relative prices, and with no tariffs or transportation costs, this means that food will soon be shipped from America to Europe and clothing from Europe to America. 
As European clothing penetrates the American market, American clothier will find prices falling and profits shrinking, and they will begin to shut down their factories. The opposite will occur in Europe. European farmers will find that the prices of foodstuffs begin to fall when American products hit the European markets; they will suffer losses, some will go bankrupt, and resources will be withdrawn from farming. 
After all the adjustments to international trade have taken place, we will see that the prices of clothing and food are equalized in Europe and America. Without further information, we cannot know the exact level to which prices will move. But we do know that the relative prices of food and clothing must lie somewhere between the European price ratio (which is ¾ for the ratio of food to clothing prices) and the American price ratio (which is ½). 
Let us say that the final price ratio is 2/3, so that 2 units of clothing trade for 3 units of food. For simplicity, we measure prices in American dollars and assume that the free-trade price of food is 2$ per unit, which means that the free-trade price of clothing is 3$ per unit. 
Moreover, the regions have shifted their productive activities; America has withdrawn resources from clothing and invested in food while Europe has contracted its farm sector and expanded its clothing manufacture. Under free trade, countries shift production toward their areas of comparative advantage. 
The Economic Gains from Trade

America as a whole benefits from the fact that imported clothing costs less than clothing produced at home. Likewise, Europe benefits from specializing in clothing and getting food more cheaply by importing than it can by domestic production. 

We can most easily reckon the gains from trade by calculating the effect of trade upon the real wages of workers. Real wages are measured by the amount of good and services that a worker can buy with an hour’s pay. From table 1, we can see that the real wages after trade will be greater than the real wages before trade for workers in both Europe and America. For simplicity, assume that each worker buys 1 unit of clothing and 1 unit of food. Before trade, this bundle of consumer goods costs an American worker 3 hours of work and a European worker 7 hours of work. 

After trade has opened up, recall that the price of clothing is 3$ per unit while the price of food is 2$ per unit. An American worker must still work 1 hour to buy a unit of food, but at the price ratio of 2 to 3, the American worker need work only 1,5 hours to produce enough to buy 1 unit of European clothing. Therefore the bundle of goods costs the American worker 2,5 hours of work when trade is allowed – this represents an increase of 16,6 % in the real wage of the American worker. 

For European workers, a unit of clothing will still cost 4 hours of labor in a free-trade situation, for clothing is domestically produced. To obtain a unit of food, however, the European worker need produce only 2/3 of a unit of clothing (which requires 2/3 x 4 hours of labor) and then trade that 2/3 of unit for 1 unit of American food. The total European labor needed to obtain the bundle of consumption is then 4 + 2,66 = 6,66, which represents an increase in real wages of about 5 % over the no-trade situation. 


When trade opens and each country concentrates on its area of comparative advantage, everyone is better off. Workers in each region can obtain a larger quantity of consumer goods for the same amount of work when people specialize in the areas of comparative advantage and trade their own production for goods in which they have a relative disadvantage. When borders are opened to international trade, the national income of each and every trading country rises. 
Example 3 - Comparative Advantage: Northland and Southland
Suppose for example we have two countries of equal size, Northland and Southland that both produce and consume two goods, Food and Clothes. The productive capacities and efficiencies of the countries are such that if both countries devoted all their resources to Food production, output would be as follows: 
· Northland: 100 tonnes 

· Southland: 200 tonnes 

If all the resources of the countries were allocated to the production of clothes, output would be:

· Northland: 100 tonnes 

· Southland: 100 tonnes 

Assuming each has constant opportunity costs of production between the two products and both economies have full employment at all times. All factors of production are mobile within the countries between clothing and food industries, but are immobile between the countries. The price mechanism must be working to provide perfect competition.

Southland has an absolute advantage over Northland in the production of Food. Both countries are equally efficient in the production of clothes. There seems to be no mutual benefit in trade between the economies. The opportunity costs shows otherwise. Northland's opportunity cost of producing one tonne of Food is one tonne of Clothes and vice versa. Southland's opportunity cost of one tonne of Food is 0.5 tonne of Clothes. The opportunity cost of one tonne of Clothes is 2 tonnes of Food. Southland has a comparative advantage in food production, because of its lower opportunity cost of production with respect to Northland. Northland has a comparative advantage over Southland in the production of clothes, the opportunity cost of which is lower in Southland with respect to Food than in Northland. 
To show these different opportunity costs lead to mutual benefit if the countries specialize production and trade, consider the countries produce and consume only domestically. The volumes are:

	
	Production and consumption before trade

	
	FOOD
	CLOTHES

	NORTHLAND
	50
	50

	SOUTHLAND
	100
	50

	WORLD TOTAL
	150
	100


This example includes no formulation of the preferences of consumers in the two economies which would allow the determination of the international exchange rate of Clothes and Food. Given the production capabilities of each country, in order for trade to be worthwhile Northland requires a price of at least one tonne of Food in exchange for one tonne of Clothes; and Southland requires at least one tonne of Clothes for two tonnes of Food. The exchange price will be somewhere between the two. The remainder of the example works with an international trading price of one tonne of Food for 2/3 tonne of Clothes.

If both specialize in the goods in which they have comparative advantage, their outputs will be:
	
	Production and consumption after trade

	
	FOOD
	CLOTHES

	NORTHLAND
	0
	100

	SOUTHLAND
	200
	0

	WORLD TOTAL
	200
	100


World production of food increased. Clothing production remained at the same level. Total world production increased.  
Absolute advantage

Example 4 –Absolute Advantage: Scotland and Spain

A country has an absolute advantage over another in producing a good, if it can produce that good using fewer resources than another country. For example if one unit of labor in Scotland can produce 80 units of wool or 20 units of wine; while in Spain one unit of labor makes 50 units of wool or 75 units of wine, then Scotland has an absolute advantage in producing wool and Spain has an absolute advantage in producing wine. Scotland can get more wine with its labor by specializing in wool and trading the wool for Spanish wine, while Spain can benefit by trading wine for wool. (Adam Smith, Wealth of Nations.) The benefits to nations from trading are the same as to individuals: trade permits specialization, which allows resources to be used more productively.

Example 5
Country A can produce product Z using one unit of labor.

Country B can produce product Z using two units of labor.

Country A has an absolute advantage over Country B in product Z.

Example 6
Russia has significant coal reserves.

USA does not and uses nuclear energy.

Assume that energy production is cheaper with coal than with nuclear energy.

Russia has an absolute advantage in energy production.

The balance of payments
The balance of payments is a statistical statement that summarizes transactions between residents and nonresidents during a period. The balance of payments comprises the current account, the capital account, and the financial account. Together, these accounts balance in the sense the sum of the entries is conceptually zero. 

The current account  is the sum of net sales from trade in goods and services (balance of trade), net factor income (such as dividends and interest payments from abroad), and net unilateral transfers from abroad (such as foreign aid, grants, gifts, etc). 

The financial account records transactions that involve financial assets and liabilities and that take place between residents and nonresidents and it is the net change in foreign ownership of domestic financial assets. 

The capital account records the international flows of transfer payments relating to capital items and in the international accounts shows, (1) capital transfers receivable and payable; and (2) the acquisition and disposal of nonproduced nonfinancial assets. 

Net errors and omissions is the last component of the BOP and only exists to correct any possible errors made in accounting for the three other accounts. These errors are common to occur due to the complexity of the calculations.

Balance of payments identity
The balance of payments identity states that:

Current Account + Capital Account + Financial Account + Net Errors and Omissions = Change in Official Reserve Account 

	Example 7 – homework
	Product A
	Product B

	Home country
	aL = 2
	bL = 6

	Abroad
	aL = 8
	bL = 4


aL (bL )=  – Labor hours per 1 unit of product A (product B)
	Example 8 - homework
	Product A
	Product B

	Home country
	aL = 3
	bL = 2

	Abroad
	aL = 10
	bL = 5


a) Which country has absolute advantage and in which product?

b) Which country has comparative advantage and in which product?
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